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Μηκοτομή ΟΔΟΣ 428 (Ρ-ΠΕ1) 

Υ  Π  Ο  Μ  Ν  Η  Μ  Α

Ε Ρ Υ Θ Ρ Α

ΣΤΟΝ ΑΞΟΝΑ

ΣΤHΝ ΑΡΙΣΤΕΡΗ Ρ.Γ.

ΣΤHΝ ΔΕΞΙΑ Ρ.Γ.

ΚΑΤΩΦΛΙ ΑΡΙΣΤΕΡΑ

ΚΑΤΩΦΛΙ ΔΕΞΙΑ  

ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2603 Χ.Θ. = 0 +   0.00

ΕΩΣ :  K2620 Χ.Θ. = 0 +261.170 

Υψόμετρο Αριστερής Ρ.Γ.

Υψόμετρο Δεξιάς Ρ.Γ.
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Μηκοτομή ΟΔΟΣ 429 (Ρ-ΠΕ1) 
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ΣΤΗΝ ΑΡΙΣΤΕΡΗ Ρ.Γ.

ΣΤΗΝ ΔΕΞΙΑ Ρ.Γ.

ΚΑΤΩΦΛΙ ΑΡΙΣΤΕΡΑ

ΚΑΤΩΦΛΙ ΔΕΞΙΑ  

ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2619 Χ.Θ. = 0 +   0.00

ΕΩΣ :  K2266 Χ.Θ. = 0 +010.952

Υψόμετρο Αριστερής Ρ.Γ.
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Μηκοτομή ΟΔΟΣ 430 (Ρ-ΠΕ1)
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ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2556 Χ.Θ. = 0 +   0.00

ΕΩΣ :  Κ2571 Χ.Θ. = 0 +023.988
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Μηκοτομή ΟΔΟΣ 431 (Ρ-ΠΕ1)

Υ  Π  Ο  Μ  Ν  Η  Μ  Α

Ε Ρ Υ Θ Ρ Α

ΣΤΟΝ ΑΞΟΝΑ

ΣΤHΝ ΑΡΙΣΤΕΡΗ Ρ.Γ.

ΣΤHΝ ΔΕΞΙΑ Ρ.Γ.

ΚΑΤΩΦΛΙ ΑΡΙΣΤΕΡΑ

ΚΑΤΩΦΛΙ ΔΕΞΙΑ  

ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2546 Χ.Θ. = 0 +   0.00

ΕΩΣ :  Κ2557 Χ.Θ. = 0 +050.908

Υψόμετρο Αριστερής Ρ.Γ.
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Μηκοτομή ΟΔΟΣ 432 (Ρ-ΠΕ1)
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ΣΤΟΝ ΑΞΟΝΑ
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ΣΤHΝ ΔΕΞΙΑ Ρ.Γ.
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ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2624 Χ.Θ. = 0 +   0.00

ΕΩΣ :  Κ2548 Χ.Θ. = 0 +054.390
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